
CHEMISTRY

BOOKS - OMEGA PUBLICATION

THE D- AND F-BLOCK ELEMENTS

Questions

1. What are transition elements ? Which of the

d block elements are not regarded as

transition elements and why ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_W9ObNi1NIUYF


Watch Video Solution

2. Give the electronic configurations of copper

and chromium.

Watch Video Solution

3. Write the electronic configuration of 

and find the number of unpaired electrons in

it.

Watch Video Solution

Cr2 +

https://dl.doubtnut.com/l/_W9ObNi1NIUYF
https://dl.doubtnut.com/l/_HCpFOuABXjzc
https://dl.doubtnut.com/l/_x09SBQDUJtEf


4. Write down the electronic configuration of:

Watch Video Solution

Cr3 +

5. Write down the electronic configuration of

Watch Video Solution

Cu+

https://dl.doubtnut.com/l/_x09SBQDUJtEf
https://dl.doubtnut.com/l/_fTC5K0MvaS8Q
https://dl.doubtnut.com/l/_xk4M7qgfFqaO


6. Write down the electronic configuration of:

Watch Video Solution

Co2 +

7. Write down the electronic configuration of:

Watch Video Solution

Mn2 +

https://dl.doubtnut.com/l/_piFRwCoJsiw5
https://dl.doubtnut.com/l/_yJxJRScuB9zw


8. Write down the electronic configuration of

Watch Video Solution

Pm3 +

9. Write down the electronic configuration of:

Watch Video Solution

Ce4 +

https://dl.doubtnut.com/l/_kqD6TrMJM00I
https://dl.doubtnut.com/l/_X7YsZA9j4s9u


10. Write down the electronic configuration of:

Watch Video Solution

Lu2 +

11. Write down the electronic configuration of:

Watch Video Solution

Th4 +

https://dl.doubtnut.com/l/_fHTjcFuvg8JL
https://dl.doubtnut.com/l/_nsOzOoeGdfcw


12. Sliver atom has completely filled d-orbitals

 in its ground state. How can you say

that it is a transition element ?

Watch Video Solution

(4d10)

13. In what way is the electronic configuration

of transition elements different from that of

the non-transition elements ?

Watch Video Solution

https://dl.doubtnut.com/l/_6zufl1yXpYQG
https://dl.doubtnut.com/l/_8t6YifC41NZU
https://dl.doubtnut.com/l/_5tUVaQnjP1ad


14. Calculate the number of unpaired electrons

in the following gaseous ions 

 

Which one of these is the most stable in

aqueous solution ?

Watch Video Solution

i)Mn3 + ii)Cr3 + iii)V 3 + iv)Ti3 +

15. What are d-Block elements ? Write their

general electronic configuration.

Watch Video Solution

https://dl.doubtnut.com/l/_5tUVaQnjP1ad
https://dl.doubtnut.com/l/_lLOsRXBgpuXx


16. Copper atom has comletely filled d-orbitals

 in its ground state. How can uyou say

that it is transition element ?

Watch Video Solution

(3d10)

17. Why Zn, Cd and Hg are not transition

elements ?

Watch Video Solution

https://dl.doubtnut.com/l/_JDHUXGRexJ3o
https://dl.doubtnut.com/l/_owCZdBJDJOj5


18. Scandium (z = 21) is a transition element

but zinc (z = 30) is not. Explain.

Watch Video Solution

19. Why Zn, Cd, Hg are soft and have low m.pt.

Watch Video Solution

20. In 3d series name the element with highest

m.p. ?

https://dl.doubtnut.com/l/_lsPBPzRzuGZS
https://dl.doubtnut.com/l/_63QZp5HxT7zH
https://dl.doubtnut.com/l/_VVy0rZBqLWUP


Watch Video Solution

21. How does atomic size of elements vary on

moving from left to right in a period

Watch Video Solution

22. In the transition series starting from

Lanthanum (atom no =57), the next element

hafmnium (atom no =72) why so observe this

jump in atomic number ?

https://dl.doubtnut.com/l/_VVy0rZBqLWUP
https://dl.doubtnut.com/l/_3bIzCGmU8dt8
https://dl.doubtnut.com/l/_GThOjyK8uQIR


Watch Video Solution

23. Explain why transition elements have high

melting and boiling points ?

Watch Video Solution

24. The transition elements have high melting

points.

Watch Video Solution

https://dl.doubtnut.com/l/_GThOjyK8uQIR
https://dl.doubtnut.com/l/_059SJeWF0rRh
https://dl.doubtnut.com/l/_h07V1KasjqcW
https://dl.doubtnut.com/l/_ZAlv8bnxcxBs


25. Why are I.E. of 5d - elements greater than

3d- elements ?

Watch Video Solution

26. Why enthalpy of atomisation of the

transition elements are quite high ?

Watch Video Solution

27. Write the name of metal which shows only

+3 oxidation state.

https://dl.doubtnut.com/l/_ZAlv8bnxcxBs
https://dl.doubtnut.com/l/_Ogulq0QmHrCd
https://dl.doubtnut.com/l/_4kNbVwEGSs5O


Watch Video Solution

28. Write the nameand atomic number of

fourth element of the3d-series.

Watch Video Solution

29. Write the formula of ferrocyanide ion.

Watch Video Solution

https://dl.doubtnut.com/l/_4kNbVwEGSs5O
https://dl.doubtnut.com/l/_pKW6NSHcWg4Q
https://dl.doubtnut.com/l/_8I0mmQmZTKGC


30. Write the name and atomic number of the

last element of 3d-series.

Watch Video Solution

31. Write the formula of dichromateion.

Watch Video Solution

32. Writethe nameand atomic number of ninth

element of the3d-series.

https://dl.doubtnut.com/l/_5HnhikINTMth
https://dl.doubtnut.com/l/_PrXagC9ZAhpr
https://dl.doubtnut.com/l/_g72JAjHW66Vr


Watch Video Solution

33. Why is the third ionization enthalpy of

manganese (At. no.=25) unexpectedly high ?

Watch Video Solution

34. In 3d series name the element which can

so an oxidation state of +1.

Watch Video Solution

https://dl.doubtnut.com/l/_g72JAjHW66Vr
https://dl.doubtnut.com/l/_ySvReBzVOlwz
https://dl.doubtnut.com/l/_0WJ0aPWy7VIz
https://dl.doubtnut.com/l/_1Wq0lSmUQ3iy


35. Write the formula of a compound where

the transition metal is in +7 oxidation state.

Watch Video Solution

36. Explain :Transition elements exhibit

variable oxidation states.

Watch Video Solution

https://dl.doubtnut.com/l/_1Wq0lSmUQ3iy
https://dl.doubtnut.com/l/_Prfp8QlUwatB


37. Which of the 3d-series of transition

elements exhibits the largestn number of

oxidation states and why ?

Watch Video Solution

38. What may be the stable oxidation state of

the transition element with the following d-

electron configuration in the group state of

their atoms ? 

Watch Video Solution

3d3, 3d5, 3d8, 3d4

https://dl.doubtnut.com/l/_SeniWdCg3rKY
https://dl.doubtnut.com/l/_ho09cPofTMPf


39. Name the oxometal anions of the first

series of transition metals in which the metal

exhibits the oxidation state equal to its group

number.

Watch Video Solution

40. Explain why Cu(I) is diamagnetic while

Cu(II) is paramagnetic in nature?

Watch Video Solution

https://dl.doubtnut.com/l/_ho09cPofTMPf
https://dl.doubtnut.com/l/_I1euEOgkxcoD
https://dl.doubtnut.com/l/_atD3Xbwn3Gkd


41. Co(II) is stable in aqueous solution, but in

presence of complexing reagent it is easily

oxidised. Explain.

Watch Video Solution

42. The  for copper is positive (0.34

V). Copper is the only metal in the first series

of transition elements showing this behaviour.

Watch Video Solution

E ∘
M 2 + /M

https://dl.doubtnut.com/l/_1PHi4jE9hRnK
https://dl.doubtnut.com/l/_oKaznW2np3Fh
https://dl.doubtnut.com/l/_UPo7IJCXuFun


43. Why does Mn(II) shows maximum

paramagnetic 

character among the divalent ions of first

transition series ?

Watch Video Solution

44. Why does Mn(II) shows maximum

paramagnetic 

character among the divalent ions of first

transition series ?

Watch Video Solution

https://dl.doubtnut.com/l/_UPo7IJCXuFun
https://dl.doubtnut.com/l/_fkN6RvxxF7WN


45. Why are  compounds more stable

than  compounds towards oxidation to

their +3 state ?

Watch Video Solution

Mn2 +

Fe2 +

46. Why are  compounds more stable

than  compounds towards oxidation to

their +3 state ?

Watch Video Solution

Mn2 +

Fe2 +

https://dl.doubtnut.com/l/_fkN6RvxxF7WN
https://dl.doubtnut.com/l/_lCwRypnC1WAO
https://dl.doubtnut.com/l/_dyf1Lv2390cH


47. Explain, why transition metal ions usually

show paramagnetic behaviour ?

Watch Video Solution

48. Which of the two is paramagnetic V(IV) or

V(V) 

and why ?

Watch Video Solution

https://dl.doubtnut.com/l/_dyf1Lv2390cH
https://dl.doubtnut.com/l/_dTakvfYZicjY
https://dl.doubtnut.com/l/_9ZNdjDDW8rwL
https://dl.doubtnut.com/l/_KzQYlZSob0le


49. Which one is more paramagnetic

 ?

Watch Video Solution

Fe2 + or Fe3 + (Z = 26)

50. How many unpaired electrons are in Cr(III)

?

Watch Video Solution

51. Why do the transition metals componds

are coloured ?

https://dl.doubtnut.com/l/_KzQYlZSob0le
https://dl.doubtnut.com/l/_ZEzstdSrrg3R
https://dl.doubtnut.com/l/_2Aly2fAFZdAY


Watch Video Solution

52. Out of ions ,Cr^(3+), (  which will

give coloured aqueous solution and what will

be the magnetic behaviour of each ion ?

(Atomic number of Co = 27, Sc = 21 and Cr = 24).

Watch Video Solution

Co2 + Sc3 +

53. Predict which of the following will be

coloured in aqueous solution? Ti3+, V3+, Cu+,

https://dl.doubtnut.com/l/_2Aly2fAFZdAY
https://dl.doubtnut.com/l/_J5ylWwAW4GEQ
https://dl.doubtnut.com/l/_Rnrl2Dru9ztr


Sc3+, Mn2+, Fe3+ and Co2+. Give reasons for

each.

Watch Video Solution

54. Out of the ions ,  and 

which will give coloured aqueous solution and

what will be the magnetic behaviour of each

ion ? (Atomic number of Ag = 47, Co = 27 and Ti

= 22).

Watch Video Solution

Ag+ Co2 + Ti4 +

https://dl.doubtnut.com/l/_Rnrl2Dru9ztr
https://dl.doubtnut.com/l/_ctZUIleuMIAJ
https://dl.doubtnut.com/l/_Wypc7NWaht3i


55. Why  salts are white ? Cd=48

Watch Video Solution

Cd2 +

56.  salts are white while  salts are

blue, explain why ?

Watch Video Solution

Zn2 + Cu2 +

57. Why Cu(l) is colourless and Cu(ll) is blue in

colour ?

https://dl.doubtnut.com/l/_Wypc7NWaht3i
https://dl.doubtnut.com/l/_lNQu4rjo0x57
https://dl.doubtnut.com/l/_2gii4UgX7sF3


Watch Video Solution

58. Which out of the following ions would

form coloured complexes :  ?

Watch Video Solution

Ni2 + , Cu+

59. Why do transition metals form complexes ?

Watch Video Solution

https://dl.doubtnut.com/l/_2gii4UgX7sF3
https://dl.doubtnut.com/l/_OxwruSbQ5zEI
https://dl.doubtnut.com/l/_mNwd0iY17pMl


60. Transition elements and their compounds

are found to be good catalysts. Give examples.

Watch Video Solution

61. Why are  compounds

thermodynamically more stable than 

compounds whereas  compounds are

relatively more stable than  compounds

?

Watch Video Solution

Ni2 +

Pt2 +

Pt4 +

Ni4 +

https://dl.doubtnut.com/l/_VlyhYDEkcEtd
https://dl.doubtnut.com/l/_pB9smWS4Jmvw


62. Why does  act as catalyst ?

Watch Video Solution

V2O5

63. Transition metals form number of

interstitial compounds. Explain.

Watch Video Solution

64. What is Misch metal ?

https://dl.doubtnut.com/l/_pB9smWS4Jmvw
https://dl.doubtnut.com/l/_h0P19g4nKs78
https://dl.doubtnut.com/l/_hkUpHomSgslY
https://dl.doubtnut.com/l/_jDnrmufNyIE4


Watch Video Solution

65. Why transition elements form a large

number of alloys ?

Watch Video Solution

66. Write the composition and one use of bell

metal.

Watch Video Solution

https://dl.doubtnut.com/l/_jDnrmufNyIE4
https://dl.doubtnut.com/l/_TwAoUNye0l4j
https://dl.doubtnut.com/l/_yuACuHQyGGO4
https://dl.doubtnut.com/l/_VAL7xi4pyCDU


67. What arecoinage metals ?

Watch Video Solution

68. How do alloys differ from amalgams ?

Watch Video Solution

69. Define tempering of steel.

Watch Video Solution

https://dl.doubtnut.com/l/_VAL7xi4pyCDU
https://dl.doubtnut.com/l/_cvg3ajjxsBIk
https://dl.doubtnut.com/l/_qIzcyvFgnr0n
https://dl.doubtnut.com/l/_BUeYMIRC4ZCI


70. Describe the preparation of potassium

dichromate from iron chromite ore. What is

the effect of increasing pH on a solution of

potassium dichromate?

Watch Video Solution

71. What is the action of heat on 

and 

?

Watch Video Solution

K2Cr2O7

KMnO4

https://dl.doubtnut.com/l/_BUeYMIRC4ZCI
https://dl.doubtnut.com/l/_8WEhKUVsdF0d
https://dl.doubtnut.com/l/_mPsT8tKwJETt


72. What is action of heat on  ?

Watch Video Solution

KMnO4

73. Explain the structure of 

Watch Video Solution

Cr2O
2 −
7

74. What happens when  reacts with

acidified 

Watch Video Solution

H2O2

FeSO4

https://dl.doubtnut.com/l/_mPsT8tKwJETt
https://dl.doubtnut.com/l/_hqiPWn34igrh
https://dl.doubtnut.com/l/_FSooZqVPp0h0


75. How acidified  reacts with the

following : 

Watch Video Solution

K2Cr2O7

FeSO4

76. Describe the reaction of acidified 

with  solution.

Watch Video Solution

K2Cr2O7

Na2SO3

https://dl.doubtnut.com/l/_FSooZqVPp0h0
https://dl.doubtnut.com/l/_S3rnSev4Al5L
https://dl.doubtnut.com/l/_7ovvypYOKO0G
https://dl.doubtnut.com/l/_FsiMuXjan1Kk


77. Describe the reaction of acidified 

with  solution.

Watch Video Solution

K2Cr2O7

Na2SO3

78. Write chemical reaction for preparation of

K2Cr207 from chromite ore.

Watch Video Solution

79. Explain chromyl chloride test for chlorides.

Watch Video Solution

https://dl.doubtnut.com/l/_FsiMuXjan1Kk
https://dl.doubtnut.com/l/_3DC6yzDGRnTa
https://dl.doubtnut.com/l/_7z3k4Hmknmnn


80. In Alkaline solution we have chromates and

in acidic solution, dichromates ? Explain.

Watch Video Solution

81. How will you convert pyrolusite ore into

potassium permanganate ? Give the chemical

reactions only.

Watch Video Solution

https://dl.doubtnut.com/l/_7z3k4Hmknmnn
https://dl.doubtnut.com/l/_a7MBxik390J8
https://dl.doubtnut.com/l/_qaeiKZ7hVzHb


82. Write the formula of manganate ion and

draw the structure of permanganate ion.

Watch Video Solution

83. Complete the following chemical reaction

equations . 

Watch Video Solution

Cr2O
2 −
7 (aq) + Fe2 + (aq) + H + (aq) →

https://dl.doubtnut.com/l/_hhUFj5PHz4dp
https://dl.doubtnut.com/l/_rWSFmJKDvi5R


84. Complete the following chemical reaction

equations . 

Watch Video Solution

Cr2O
2 −
7 (aq) + Fe2 + (aq) + H + (aq) →

85. Write the chemical equation for the

oxidation of  by  in neuntral

medium.

Watch Video Solution

S2O
2 −
3 MnO

−
4

https://dl.doubtnut.com/l/_OTKdO0iTQMZ6
https://dl.doubtnut.com/l/_6cYgJCLwCZRL
https://dl.doubtnut.com/l/_ZlhNNf7vkBVg


86. Write the chemical equation for the

oxidation of  by  in acidic

medium.

Watch Video Solution

Sn+ 2 Cr2O
2 −
7

87. Why is silver bromide (AgBr) used in

photography ?

Watch Video Solution

https://dl.doubtnut.com/l/_ZlhNNf7vkBVg
https://dl.doubtnut.com/l/_gVvfFlpsFDSS


88. What is the basic difference between the

electronic configurations of transition and

inner transition elements ?

Watch Video Solution

89. What are f-block elements ? Write their

general electronic configuration.

Watch Video Solution

https://dl.doubtnut.com/l/_5t1PPgVjOQaX
https://dl.doubtnut.com/l/_bafEeF6ziaDN


90. What are inner transition elements ? How

do they differ from transition elements ?

Watch Video Solution

91. Write the general electronic configuration

of lanthanoids.

Watch Video Solution

https://dl.doubtnut.com/l/_NtesHdm4I4eJ
https://dl.doubtnut.com/l/_AGeUOkMnmFZ4


92. Briefly explain, why are electronic

configuration of lanthanides not known with

certainty ?

Watch Video Solution

93. Chemistry of all lanthanoids is so identical.

Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_YrJIRHwfjQgs
https://dl.doubtnut.com/l/_QZi7Ppoe1M5S


94. Why separation of lanthanoid elements is

difficult ?

Watch Video Solution

95. Define Lanthanide Contraction.

Watch Video Solution

96. Give the cause of Lanthanide Contraction.

Watch Video Solution

https://dl.doubtnut.com/l/_rQHjkAULCV9M
https://dl.doubtnut.com/l/_4sEK04BVuxYR
https://dl.doubtnut.com/l/_YVCR49KyxILf


97. Which ion has maximum size in Lanthanoid

series ?

Watch Video Solution

98. Write consequences of Lanthanoid

contraction. Why Zr and Hf exhibit siumilar

properties ?

Watch Video Solution

https://dl.doubtnut.com/l/_YVCR49KyxILf
https://dl.doubtnut.com/l/_kn6PmJOQh8Rh
https://dl.doubtnut.com/l/_EoEiMgKyazvx
https://dl.doubtnut.com/l/_NGYud2folAe6


99. What are different oxidation states

exhibited by 

lanthanoids ?

Watch Video Solution

100. The +3 oxidation state of Lanthanium

(Z=57). Gadolinium (Z=64) and Lutetium (Z=71)

are especially stable, Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_NGYud2folAe6
https://dl.doubtnut.com/l/_mHYp2qcNdvJx
https://dl.doubtnut.com/l/_7mJweUack4C3


101. All the members of actinoid series have +3

O.S. Assign reason for this.

Watch Video Solution

102. How does lanthanoid contraction affect

the physical and chemical properties of the

elements of lanthanoid series ?

Watch Video Solution

https://dl.doubtnut.com/l/_7mJweUack4C3
https://dl.doubtnut.com/l/_5MXgmpXrUqt7


103. Why the properties of the third transition

series are very similar to the second transition

series?

Watch Video Solution

104. Why is  more basic than 

 ?

Watch Video Solution

La(OH)3

Lu(OH)3

https://dl.doubtnut.com/l/_5e3UYBneIvVU
https://dl.doubtnut.com/l/_6ioNGsaTKzD2


105. Among lanthanoids, Ln (III) compounds

are predominant. However, occasionally in

solutions on in solid compounds, + 2 and +4

ions are also obtained.

Watch Video Solution

106. What is the most common oxidation state

in the Lanthanoids ?

Watch Video Solution

https://dl.doubtnut.com/l/_8bNowp29qGoh
https://dl.doubtnut.com/l/_JGEfh67eI6Nu
https://dl.doubtnut.com/l/_5GtQAb3GSHLD


107. Name members of lanthanoid series which

exhibit +4 O.S. Assign reason for this.

Watch Video Solution

108. Name the members of lanthanoid series

which exhibit +2 O.S. Assign reason for this.

Watch Video Solution

https://dl.doubtnut.com/l/_5GtQAb3GSHLD
https://dl.doubtnut.com/l/_MeMXQbeLjbH6


109. One among the lanthanoids, Ce(III) (Z=58)

can easily be oxidised to Ce (IV). Explain why?

Watch Video Solution

110. What is the general electronic

configuration of actinoids?

Watch Video Solution

https://dl.doubtnut.com/l/_OvtDQJeXGk8E
https://dl.doubtnut.com/l/_DOYfUxnIzOgz


111. How would you account for the following:

There is a greater range of oxidation states

among the actinoids than among the

lanthanoids.

Watch Video Solution

112. All the ............... are radioactive.

Watch Video Solution

https://dl.doubtnut.com/l/_LrhS0WWEW2jF
https://dl.doubtnut.com/l/_SiTzlqDPUPFg


113. What is Actinoid contraction ? Explain it.

Watch Video Solution

114. Give three differences between

lanthanides and actinides.

Watch Video Solution

115. Give one use of lanthanoids and actinoids.

Watch Video Solution

https://dl.doubtnut.com/l/_KBKE2cO8x145
https://dl.doubtnut.com/l/_6piiuy8P2sP6
https://dl.doubtnut.com/l/_nQaxQZ9Qoj0r


116. Why is equropium (II) more stable than

cerium (II) (Eu = 63, Ce =58) give one reason.

Watch Video Solution

117. Why Zr and Hf exhibit similar properties ?

Watch Video Solution

https://dl.doubtnut.com/l/_nQaxQZ9Qoj0r
https://dl.doubtnut.com/l/_T3EdtCUDOQtb
https://dl.doubtnut.com/l/_iYD5iDDZ8LaL


Multiple Choice Questions

118. The chemistry of the actinoid elements is

not so smooth as that of the lanthanoids.

Justify this statement by giving some examples

from the oxidation state of these elements.

Watch Video Solution

1. Which element belongs to d-block elements

?

https://dl.doubtnut.com/l/_IkkeyZEUFQBi
https://dl.doubtnut.com/l/_qVir3q4QNdJf


A. Na

B. Ca

C. Cu

D. Ar

Answer: C

Watch Video Solution

2. The transition elements have a general

electronic configuration of

https://dl.doubtnut.com/l/_qVir3q4QNdJf
https://dl.doubtnut.com/l/_znychp8HTaqf


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ns2np6nd1 − 10

(n − 1)d1 − 10ns0 − 2np0 − 6

(n − 1)d1 − 10ns1 − 2

nd1 − 10ns1 − 2

3. The correct ground state electronic

configuration of chromium atom (Z=24) is

https://dl.doubtnut.com/l/_znychp8HTaqf
https://dl.doubtnut.com/l/_VBrqt5v7nFjR


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[Ar]4d54s1

[Ar]3d14s2

[Ar]3d64s0

[Ar]3d54s1

4. Which of the following electronic

configuration is that of a transition element ?

https://dl.doubtnut.com/l/_VBrqt5v7nFjR
https://dl.doubtnut.com/l/_gr7iCQr49j1o


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1s22s22p63s23p63d104s24p6

1s22s22p63s23p63d104s24p1

1s22s22p63s23p63d24s2

1s22s22p63s23p64s2

5. Which of the following elements is alloyed

with copper to form brass?

https://dl.doubtnut.com/l/_gr7iCQr49j1o
https://dl.doubtnut.com/l/_fWlTd4EAzXzJ


A. Lead

B. Bismuth

C. Zinc

D. Antimony

Answer: C

Watch Video Solution

6. Copper can be extracted from

A. kupfernickel

https://dl.doubtnut.com/l/_fWlTd4EAzXzJ
https://dl.doubtnut.com/l/_xZveYC6dLpUr


B. dolomite

C. malachite

D. galena

Answer: C

Watch Video Solution

7. Argentite is an ore of

A. Cu

B. Pt

https://dl.doubtnut.com/l/_xZveYC6dLpUr
https://dl.doubtnut.com/l/_YpwhqNULp1Yr


C. Au

D. Ag

Answer: D

Watch Video Solution

8. The process used for the extraction of gold

is

A. Mac Arthur Forest Cyanide process

B. Parke's process

https://dl.doubtnut.com/l/_YpwhqNULp1Yr
https://dl.doubtnut.com/l/_Twp0M6CFdJ3t


C. Baeyer's process

D. Liquation process

Answer: A

Watch Video Solution

9. Important ore of zinc is

A. calamine

B. cryolite

C. gibsite

https://dl.doubtnut.com/l/_Twp0M6CFdJ3t
https://dl.doubtnut.com/l/_nl2l9WgjSSk7


D. malachite

Answer: A

Watch Video Solution

10. The inner transition elements are the

elements in which the added electrons goes to

A. (n-1) d-orbitals

B. (n-2) f-orbitals

C. (n-1) d-orbitals and (n-1) f-orbitals

https://dl.doubtnut.com/l/_nl2l9WgjSSk7
https://dl.doubtnut.com/l/_BAzhFHwGnAdH


D. (n–1) d-orbitals and ns orbitals

Answer: B

Watch Video Solution

11. Transition elements

A. exhibit inert pair effect

B. exhibit variable oxidation states

C. have low melting points

D. do not show catalytic activity.

https://dl.doubtnut.com/l/_BAzhFHwGnAdH
https://dl.doubtnut.com/l/_bbIJG1Lla2jG


Answer: B

Watch Video Solution

12. The tendency of the transition elements to

form coloured compounds is attributed to

A. transition of electrons from one atom to

the other

B. transition of electrons from s-orbitals of

the outer shells to p-orbitals

https://dl.doubtnut.com/l/_bbIJG1Lla2jG
https://dl.doubtnut.com/l/_o4gGCDvI287p


C. d-d transition in last but one shell

D. none of the reason is correct.

Answer: C

Watch Video Solution

13. Which of the following is diamagnetic ?

A. 

B. 

C. 

Fe2 +

Cr2 +

Zn2 +

https://dl.doubtnut.com/l/_o4gGCDvI287p
https://dl.doubtnut.com/l/_GpG643LpXOo9


D. 

Answer: C

Watch Video Solution

Cu2 +

14. The common oxidation state of the

elements of lanthanide series is

A. 

B. 

C. 

+2

+3

+4

https://dl.doubtnut.com/l/_GpG643LpXOo9
https://dl.doubtnut.com/l/_v1gdJqFy947h


D. 

Answer: B

Watch Video Solution

+1

15. Which of the following is a lanthanide ?

A. Ta

B. Rh

C. Th

D. Lu

https://dl.doubtnut.com/l/_v1gdJqFy947h
https://dl.doubtnut.com/l/_xeXgbiSewJtw


Answer: D

Watch Video Solution

16. For the process 

the electron is to be removed from

A. 3d subshell

B. 4s subshell

C. 3p subshell

D. any of the above

Cu(g) → Cu+ (g) + e− ,

https://dl.doubtnut.com/l/_xeXgbiSewJtw
https://dl.doubtnut.com/l/_YcEtMGOur7hC


Answer: B

Watch Video Solution

17. Paramagnetism is a property of

A. completely filled electronic subshells

B. unpaired electrons

C. non transition elements

D. melting and boiling points of the

elements.

https://dl.doubtnut.com/l/_YcEtMGOur7hC
https://dl.doubtnut.com/l/_gnwUx8hE5raW


Answer: B

Watch Video Solution

18. The first ionisation energy of silicon is

lower than that of

A. increase as the atomic number increases

B. decrease as the atomic number

increases

https://dl.doubtnut.com/l/_gnwUx8hE5raW
https://dl.doubtnut.com/l/_BGsUgFxk9mRS


C. do not show any change as the addition

of electron takes place in the inner (n-

1)d-orbitals

D. None of the above.

Answer: A

Watch Video Solution

19. Which of the following electronic

configurations will have the lowest magnetic

moment?

https://dl.doubtnut.com/l/_BGsUgFxk9mRS
https://dl.doubtnut.com/l/_O1l0QDUgRLjX


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

d2

d5

d8

d7

20. In general, the melting and boiling point of

transition metals

https://dl.doubtnut.com/l/_O1l0QDUgRLjX
https://dl.doubtnut.com/l/_hwY95sABCtwm


A. increases gradually across the period

from left to right

B. decreases gradually across the period

from left to right

C. first increases till the middle of the

period configuration of and then

decreases towards the end

D. first decreases regularly till the middle of

the period and then increases towards

the end.

https://dl.doubtnut.com/l/_hwY95sABCtwm


Answer: A

Watch Video Solution

21. Which of the following transition element

exhibit the oxidation state of +8?

A. Cd

B. Ru

C. Au

D. Te

https://dl.doubtnut.com/l/_hwY95sABCtwm
https://dl.doubtnut.com/l/_qBViDinlR0Eo


Answer: B

Watch Video Solution

22. Within each transition series, the oxidation

states

A. decreases regularly in moving from left

to right

B. first increases till the middle of period

and then decreases

https://dl.doubtnut.com/l/_qBViDinlR0Eo
https://dl.doubtnut.com/l/_NrEdtPevwRDh


C. first decreases till the middle of period

and then increases

D. None of the trend is correct.

Answer: B

Watch Video Solution

23. Which forms interstitial compounds ?

A. Fe

B. Co

https://dl.doubtnut.com/l/_NrEdtPevwRDh
https://dl.doubtnut.com/l/_TH5B4bu1vLNK


C. Ni

D. All

Answer: D

Watch Video Solution

24. Which of the following compounds is not

coloured?

A. 

B. 

ZnCl2

CrCl2

https://dl.doubtnut.com/l/_TH5B4bu1vLNK
https://dl.doubtnut.com/l/_cHe3ih0eWjhd


C. 

D. 

Answer: A

Watch Video Solution

CuSO4

NiCl
2 −
4

25. A transition element X-has a configuration

 in its +3 oxidation state. Its atomic

number is

A. 25

[Ar]3d4

https://dl.doubtnut.com/l/_cHe3ih0eWjhd
https://dl.doubtnut.com/l/_B1VD6FIETZEw


B. 26

C. 22

D. 19

Answer: A

Watch Video Solution

26. Which of the following contains the

maximum number of unpaired electrons ?

A. TiCl3

https://dl.doubtnut.com/l/_B1VD6FIETZEw
https://dl.doubtnut.com/l/_PrJBlqqoGhPr


B. 

C. 

D. 

Answer: B

Watch Video Solution

MnCl2

FeSO4

CuSO4

27. The maximum magnetic moment is shown

by the ion with electronic configuration of

A. 3d8

https://dl.doubtnut.com/l/_PrJBlqqoGhPr
https://dl.doubtnut.com/l/_BkziT6BFoaBQ


B. 

C. 

D. 

Answer: B

Watch Video Solution

3d5

3d7

3d9

28. which metal is present in vitamin  or

cyanocobalamin?

A. Fe

B12

https://dl.doubtnut.com/l/_BkziT6BFoaBQ
https://dl.doubtnut.com/l/_CgAR6FhncMpI


B. Co

C. Ni

D. Na

Answer: B

Watch Video Solution

29. Which of the two have almost similar size ?

A. 

B. 

22Ti and 40Zr

41Nb and 73Ta

https://dl.doubtnut.com/l/_CgAR6FhncMpI
https://dl.doubtnut.com/l/_ZZx0RFtVrxom


C. 

D. 

Answer: B

Watch Video Solution

39Y and 57La

20Ca and 31Ir

30. Which of the following shows

ferromagnetism?

A. 

B. 

TiO2

CrO2

https://dl.doubtnut.com/l/_ZZx0RFtVrxom
https://dl.doubtnut.com/l/_j9hsfvsrn6Fc


C. 

D. 

Answer: B

Watch Video Solution

MnO

Fe3O4

31. Which of the following is not a d-block

element?

A. Hg

B. Po

https://dl.doubtnut.com/l/_j9hsfvsrn6Fc
https://dl.doubtnut.com/l/_k2JG6dEOxYdn


C. Ni

D. W

Answer: B

Watch Video Solution

32. The transition elements have a general

electronic configuration of

A. 

B. 

ns2np6nd1 − 10

(n − 1)d1 − 10ns0 − 2np0 − 6

https://dl.doubtnut.com/l/_k2JG6dEOxYdn
https://dl.doubtnut.com/l/_P45G05Y783VM


C. 

D. 

Answer: C

Watch Video Solution

(n − 1)d1 − 10ns1 − 2

nd1 − 10ns1 − 2

33. The correct ground state electronic

configuration of chromium atom (Z=24) is

A. 

B. 

[Ar]4d54s1

[Ar]3d14s2

https://dl.doubtnut.com/l/_P45G05Y783VM
https://dl.doubtnut.com/l/_reMiFWxGVUtE


C. 

D. 

Answer: D

Watch Video Solution

[Ar]3d64s0

[Ar]3d54s1

34. Which of the following elements is alloyed

with copper to form brass?

A. Lead

B. Bismuth

https://dl.doubtnut.com/l/_reMiFWxGVUtE
https://dl.doubtnut.com/l/_yOtgI2CaVuif


C. Zinc

D. Antimony

Answer: C

Watch Video Solution

35. Argentite is an ore of

A. Cu

B. Pt

C. Au

https://dl.doubtnut.com/l/_yOtgI2CaVuif
https://dl.doubtnut.com/l/_GNkZ3OrBFN8c


D. Ag.

Answer: D

Watch Video Solution

36. The inner transition elements are the

elements in which the added electrons goes to

A. (n-1) d-orbitals

B. (n-2) f-orbitals

C. (n-1) d-orbitals and (n-1) f-orbitals

https://dl.doubtnut.com/l/_GNkZ3OrBFN8c
https://dl.doubtnut.com/l/_F20p55UWNOHW


D. (n-1) d-orbitals and ns orbitals.

Answer: B

Watch Video Solution

37. Transition elements

A. exhibit inert pair effect

B. exhibit variable oxidation states

C. have low melting points

D. do not show any catalytic activity.

https://dl.doubtnut.com/l/_F20p55UWNOHW
https://dl.doubtnut.com/l/_Nl18SGznpXeP


Answer: B

Watch Video Solution

38. Paramagnetism is a property of

A. completely filled electronic subshells

B. unpaired electrons

C. non-transition elements

D. melting and boiling points of the

elements.

https://dl.doubtnut.com/l/_Nl18SGznpXeP
https://dl.doubtnut.com/l/_ELUk1FHzv5e7


Answer: B

Watch Video Solution

39. Which of the following transition element

exhibit the oxidation state of +8?

A. Cd

B. Ru

C. Au

D. Te

https://dl.doubtnut.com/l/_ELUk1FHzv5e7
https://dl.doubtnut.com/l/_29tWLxPsz27Y


Answer: B

Watch Video Solution

40. Which forms interstitial compounds ?

A. Fe

B. Co

C. Ni

D. all the above

Answer: D

https://dl.doubtnut.com/l/_29tWLxPsz27Y
https://dl.doubtnut.com/l/_nfUnZdf2zEJ9


Watch Video Solution

41. which metal is present in vitamin  or

cyanocobalamin?

A. Fe

B. Co

C. Ni

D. Na.

Answer: B

B12

https://dl.doubtnut.com/l/_nfUnZdf2zEJ9
https://dl.doubtnut.com/l/_qi8X15vfPTF0


Watch Video Solution

https://dl.doubtnut.com/l/_qi8X15vfPTF0

